Build Guide - Africa Trophy

Accessory for “Model 4: Landy 4x4 Hardtop”
Accessory for “Model 5: Landy 4x4 Wagon”

This set consist of these items:

roof rack with fog lights

front bumper with working winch
tailgate spare wheel holder

hood spare wheel holder

snorkel with air filter

rear ladder

hardtop windows protection

fuel jerry cans

plastic storage container
aluminium box storage (3 different dimensions)

www.3dsets.com
3dsets Facebook ¢

Version 1.0



http://www.3dsets.com
https://www.facebook.com/3dsetscom

Africa Trophy : What do you need?

This accessory is compatible with both Model 4: Landy 4x4 - Hardtop and Model 5: Landy 4x4 - Wagon. If you
have a Landy Wagon, the only difference will be in the length of the Roof Rack - will be mentioned later.
Print Filament: To print this model you will need 600 g of print filament in total and it is tested with the PLA
material.
To remote control the Winch, you need to have available one proportional channel, preferably controlled by
3-way switch. For the middle position = winch is stopped, for both end positions = winch si going in/out.
Winch is driven by Micro DC Gear Motor 6V: Micro DC Gear Motor 6V 30rpm
To control the winch you will need Speed controller (ESC) max size 40x30x25mm: Motor Speed RC ESC
material for Winch Rope:

o  Super Strong Braided Wire Fishing Line 100LB (0,6mm) or

o  EDDL Lure As Gift The 100M 88LB (line number 8.0)
Ball Bearing 10x15x4 mm - 6700ZZ: 2 pcs.: Bearing
Screws:
M2x6: 57pcs (for Landy Wagon 70pcs)
M2x8: 6pcs
M2x10: 9pcs
M3x10: 10pcs
M3x12: 4pcs
M3x16: 1pcs

o O O O O O


https://www.aliexpress.com/item/Wholesale-2-pcs-N20-25-1000rpm-200rpm-12V-Mini-Motor-6V-3V-Micro-Motor-Monitoring-Equipment/32385310725.html?spm=a2g0s.9042311.0.0.72184c4dIM78ey
https://www.aliexpress.com/item/20A-Motor-Speed-RC-ESC-2KHz-Forward-Reverse-Brush-Brake-RC-2S-for-Controller-Boat-Car/32967286973.html?spm=2114.search0104.3.22.109642f7YZUXSw&ws_ab_test=searchweb0_0,searchweb201602_8_10065_10068_319_10059_10884_317_10887_10696_321_322_10084_453_10083_454_10103_10618_10304_10307_10820_10821_537_10302_536,searchweb201603_35,ppcSwitch_0&algo_expid=ea4e225c-c74d-4b04-9396-16801ae52aa8-3&algo_pvid=ea4e225c-c74d-4b04-9396-16801ae52aa8
https://www.aliexpress.com/item/100M-Super-Strong-Braided-Wire-Fishing-Line-6-100LB-0-4-10-0-PE-Material-Multifilament/32849601139.html?spm=2114.search0104.3.301.26026457QURD8N&ws_ab_test=searchweb0_0,searchweb201602_8_10065_10068_319_10059_10884_317_10887_10696_321_322_10084_453_10083_454_10103_10618_10304_10307_10820_10821_537_10302_536,searchweb201603_35,ppcSwitch_0&algo_expid=2ffa330f-21b9-4fbf-990e-9396cdd0fabe-38&algo_pvid=2ffa330f-21b9-4fbf-990e-9396cdd0fabe
https://www.aliexpress.com/item/FDDL-Lure-As-Gift-The-100M-12-88LB-PE-Multifilament-Super-Braided-Fishing-Line-Carp-Fishing/32855758099.html?spm=2114.search0104.3.139.56cfce0ajs5RyA&ws_ab_test=searchweb0_0,searchweb201602_8_10065_10068_319_10059_10884_317_10887_10696_321_322_10084_453_10083_454_10103_10618_10304_10307_10820_10821_537_10302_536,searchweb201603_35,ppcSwitch_0&algo_expid=374c4b13-8069-46fc-ab4d-9fa7677683ab-19&algo_pvid=374c4b13-8069-46fc-ab4d-9fa7677683ab
https://www.aliexpress.com/af/bearing-10x15x4.html?SearchText=bearing+10x15x4&d=y&blanktest=0&initiative_id=SB_20180917072019&origin=n&catId=0&isViewCP=y&jump=afs

Winch - step 1/1

Motor




Front Bumper “Africa” - step 1-2/3

Front frame end

8x M3x10

Piwinch Rollers

2x M3x12

3)iBumper Tube Frame

3iWinch Guard

2x M2x10

iLight Insert

2x M2x6

2X

3%D-Ring Shackle

2X

30:Bracket Mount

2x M2x10




Front Bumper “Africa” - step 3/3

2x M3x12




Roof Rack “Africa” — important informations

If you will print the part “Roof Rack - front, Roof Rack - rear or Roof Rack - Wagon” from the .stl file instead of
printing from provided gcode, please use following slicer setup:

No top infill, no bottom infill (O top/bottom layers)

e Perimeters: 3

e Infill density: 30%

e Infill type: grid

If you have Model 4: Landy 4x4 Hardtop, jump to
If you have Model 5: Landy 4x4 Wagon, jump to . Theonly difference is in Roof Rack length!




Roof Rack - for Landy Hardtop: step 1/4

Roof Rack Side -Roof Rack Side

itront right 3iRoof Rack Inner - front irear right 3iRoof Rack Inner - right

e

3P;Roof Rack Side - rear

10x M2x6 r;% :!]

3:Roof Rack Side - front Pfront left Wirear le 3P:Roof Rack Inner - left




Roof Rack - for Landy Hardtop: step 2/4

@y

3liFog Light - cover 7

3liFog Light - insert




Roof Rack - for Landy Wagon: step 1/4

Roof Rack Side . 6
ifront right 3PiRoof Rack Inner - front 3 é‘!}vz:;foﬁarf;h?lde

3 -Roof Rack Side
il rear right

3liRoof Rack Side - rear

3P:Roof Rack Inner - right

. ) 12x M2x6 _Roof Rack Side _Roo Rack Side _Roof Rack Side )
3PiRoof Rack Side - front Pfront left Riwagon left Pirear left 3:Roof Rack Inner - left




Roof Rack - for Landy Wagon: step 2/4

3

Fog Light - cover

:Fog Light - insert

i
1l
"y
0

iliFog Light - body

37x M2x6



Roof Rack: step 374

2x M2x6

-

iliSide Tube Frame - right

6x M2x6

-

3l;Side Tube Frame - left

Rendering shows only the
Landy Hardtop version -
situation for Landy Wagon is

Analaaanic

aatog0usT

3PiLadder

1x M2x10




Roof Rack: step 4/4

3 _Tube Frame
#imount windscreen right

3PiTube Frame - front

/

2x M2x10

4

2x M2x8

Rendering shows only the
Landy Hardtop version -
situation for Landy Wagon is
analogous.

8 Tube Frame
#¥mount windscreen left

1x M2x10




Snorkel- postprocessing

Before you start building Snorkel, carefully remove printing supports integrated into
specific parts rendered below. You can use pliers and a sharp knife to make the procedure easier.
Be very careful as you can harm yourself!

13



Snorkel: step 1-2/2

30 Snorkel - round top

1x M2x6

302 Snorkel

=

A
o

=
s
=
=

3P:Snorkel - air intake A

30 Air Intake - frame left




Hood Spare Tire: step 1-2/3

~

MAX @3,2mm

- Hood Spare Tire
* bottom

b

1x M3x10



Hood Spare Tire: step 3/3

1x M3x12

Rendering shows only the
Landy Hardtop version -
situation for Landy Wagon is
analogous.




Rear Spare Tire - step 1-2/3

Replace standard Rear Door
Outer Frame with new one -
with grille window protection.

.

Ax M2x8

385 spare Tire Mount

Drill only 4 specific holes -
spare wheel is intended to be
mounted off-axis!




Rendering shows only the
Landy Hardtop version -
situation for Landy Wagon is

Rear Spare Tire - step 3/3

Analaaanic

aatog0usT

2xM3x16

©




Africa Trophy: final

Now you can print included
accesories:

e jerry cans (4 pcs. will fit into
the roof rack holder)

e plastic containers

e aluminium boxes

e recovery boards (

Rendering shows only the
Landy Hardtop version -
situation for Landy Wagon is

Analaaanic
aatog0usT




